
*
 State Whether The Sentences Are True Or False.[1 Marks Each] [2]

8. When there is plenty of labour, wages are low. (True/ False)

9. Write True or False against each statement:

At the end of the nineteenth century, 80 per cent of the total workforce in Europe was

employed in the technologically advanced industrial sector.

*
 Multiple choice questions. [7]

1. In the last years of 17th century, the gross value of trade that passed through ...... had

been ₹ 16 million. By the 1740s it had slumped to ........

(A) Surat, ₹ 3 million. (B) Masulipatnam, ₹ 7 million.

(C) Hoogly, ₹ 5 million. (D) Madras, ₹ 9 million.

2. With the expansion of railways, in England from the 1840s and in the colonies from the

1860s, the demand for ______ and ______ increased rapidly.

(A) Copper and Steel. (B) Iron and Steel.

(C) Jute and Cotton. (D) Aluminium and Bauxite.

3. By 1873 Britain was exporting iron and steel worth about £77 million, double the value

of its _______ export.

(A) Steam engines. (B) Meat.

(C) Cotton. (D) None of the above.

4. In Victorian Britain, the demand in the market was often for goods with ..... designs and

...... shapes.

(A) Beautiful, simple. (B) Complex, rough. (C) Intricate, specific. (D) Nice, good.

5. Most historians refer to the phase of industrialisation as:

(A) Dawn-industrialisation. (B) Present-industrialisation.

(C) Proto-industrialisation. (D) None of the above.

6. The Marwari businessman who set up the first Indian jute mill in Calcutta in 1917 was:

(A) Seth Hukumchand. (B) Seth Manikchand.

(C) Seth Ramchand. (D) None of the above.

7. Machines were oriented to produce:

(A) Fancy dresses standardised goods for a few people.

(B) Uniforms for a mass market.

(C) Uniforms, standardised goods for a mass market.

(D) None of the above.
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*
 CASE BASED QUESTIONS [4]

1. Observe the picture below and answer the questions that follow:

i. Who is he?

SECTION - E

*
 Answer The Following Questions In Brief.[5 Marks Each] [15]

1. What strategies were developed by printers and publishers in the 19th century and 20th

century to sell their product?

2. Who was a Jobber? Mention any four functions of a Jobber?

3. The Indian Cotton export market collapsed, and the local market shrank at the

beginning of the 19th century. Why?

SECTION - D

*
 Answer The Following Questions In Short.[3 Marks Each] [18]

1. What was the nationalist message of Swadeshi regarding advertisements?

2. Explain any three factors that affect the location of industries in a region.

3. Why did merchants turn to countryside?

4. Where did the workers come from, to work in cotton mills?

5. How did factories emerge on the landscape of England?

6. Why was the industrial growth slow till the First World War?

SECTION - C

*
 Answer The Following Questions In One Sentence.[1 Marks Each] [2]

12. What was ‘fly shuttle?’

13. Mention any two advantages of a fly shuttle.

*
 Fill In The Blanks With Correct Alternative.[1 Marks Each] [2]

10. The expansion of railways boosted the growth of _________ And _________ industries.

11. The yarn produced in Indian industries was exported to ____________.

 
[2]



ii. What did he do to develop industrial enterprises in India?

----- -----

 


